Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | Division | Pay Type | Pay Rate | Maximum | Maximum Amount | • | Assign End Date |
|----------------------|--------------|-------|--------|---------------------------|--|-------------------------------------|-------------|----------|---------|-------------------|------------|--------------------|
| Chabot College - Com | munity Educa | ition | | | | | | | | | | |
| Schwarz | Bill | F. | Chabot | No | To teach computer classes to Community Education students | Community Education | Hourly | \$45.00 | 16 | \$720.00 | 11/16/2013 | 12/31/2013 |
| Wood | Royce | А | Chabot | No | To teach winemaking classes to Community Education students | Community Education | Hourly | \$45.00 | 6 | \$270.00 | 11/23/2013 | 12/31/2013 |
| Chabot College | | | | | | | | | | | | |
| Andrade | Deverie | J. | Chabot | No | To provide audio project services for the Performing Arts Center | School of Arts | Hourly | \$23.00 | 86 | \$1,978.00 | 11/1/2013 | 12/31/2013 |
| Andrade | Deverie | J. | Chabot | No | To provide specialized services, support specific facility Use Contracts and support specific projects and events for the Performing Arts Center | School of Arts | Hourly | \$23.00 | 200 | \$4,600.00 | 1/21/2014 | 6/30/2014 |
| | | | | | To teach one-day test taking NCLEX seminar in Fall 2013 | Health, Physical Education, & | | <u> </u> | | • | | |
| Baiardi | Elaine | nmi | Chabot | No | & Spring 2014 | Athletics | Hourly | \$100.00 | 24 | \$2,400.00 | 11/15/2013 | 5/31/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | Division | Pay Type | Pay Rate | Maximum | Maximum Amount | _ | |
|------------------|------------|-----|--------|---------------------------|---|---|--------------|------------|---------|-------------------|------------|------------|
| Calderon | Elliot | I. | Chabot | Yes | To provide services for Title III project that includes interviewing, research, videography, film- making and community outreach | Title III | Flat Rate | \$2,400.00 | 1 | \$2,400.00 | 11/18/2013 | 12/31/2013 |
| Contreras-Garcia | Karina | nmi | Chabot | No | To provide services for Title III project that includes interviewing, research, videography, film- making and community outreach | Title III | Flat Rate | \$1,200.00 | 1 | \$1,200.00 | 11/18/2013 | 12/31/2013 |
| DeWit | Hannah | В. | Chabot | No | To provide services for Title III project that includes interviewing, research, videography, filmmaking and community outreach | | Flat Rate | \$1,200.00 | 1 | \$1,200.00 | 11/18/2013 | 12/31/2013 |
| Forrest | Aaron | M. | Chabot | No | To teach 2013-14 swimming clinic to Community Education students | Health Sciences, Physical Education & Athletics | Hourly | \$20.00 | 100 | \$2,000.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | NA! | Cito | New Emp to | Dution | Division | Pay | Dow Boto | 84 i | Maximum | • | _ |
|---------|------------|-----|--------|---------------|--|---------------------------|--------|------------|-------------|------------|------------|------------|
| | First Name | МІ | Site | District | Duties | Division Health | Туре | Pay Rate | Maximum | Amount | Beg. Date | End Date |
| | | | | | To teach 2013-14 | Sciences, | | | | | | |
| | | | | | swimming clinic to | Physical | | | | | | |
| | | | | | Community | Education & | | | | | | |
| Harvey | Eric | T. | Chabot | No | Education students | Athletics | Hourly | \$13.00 | 60 | \$780.00 | 1/21/2014 | 6/30/2014 |
| | | | | | To provide services for Title III project that includes interviewing, research, videography, film- making and | | Flat | | | | | |
| Heltzel | Eric | W. | Chabot | No | community outreach | Title III | Rate | \$1,200.00 | 1 | \$1,200.00 | 11/18/2013 | 12/31/2013 |
| Even | | D | Chabot | No | To provide services for Title III project that includes interviewing, research, videography, filmmaking and | Title III | Flat | \$1,500,00 | 1 | ¢1 500 00 | 11/19/2012 | 12/21/2012 |
| Evan | Leo | D. | Chapot | No | community outreach | TITIE III | Rate | \$1,500.00 | 1 | \$1,500.00 | 11/18/2013 | 12/31/2013 |
| | | | | | To provide specialized services, support specific facility Use Contracts and support specific projects and events for the Performing | School of | | | | | | |
| Kollias | Patricia | nmi | Chabot | No | Arts Center | Arts | Hourly | \$16.00 | 200 | \$3,200.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | | | | New Emp to | | | Pay | | | Maximum | Assign | Assign |
|---------------|------------|-----|--------|---------------|--|-------------|--------|--|---------|--------------|------------|------------|
| | First Name | МІ | Site | District | Duties | Division | Type | Pay Rate | Maximum | Amount | | End Date |
| | | | | | | Health | 71. | | | | 3 | |
| | | | | | To teach 2013-14 | Sciences, | | | | | | |
| | | | | | swimming clinic to | Physical | | | | | | |
| | | | | | Community | Education & | | | | | | |
| Kubicki | Greg | C. | Chabot | No | Education students | Athletics | Hourly | \$45.00 | 50 | \$2,250.00 | 1/21/2014 | 6/30/2014 |
| | | | | | | Health | | | | | | |
| | | | | | To teach 2013-14 | Sciences, | | | | | | |
| | | | | | swimming clinic to | Physical | | | | | | |
| | | | | | Community | Education & | | | | | | |
| Kubicki | Jennifer | nmi | Chabot | No | Education students | Athletics | Hourly | \$45.00 | 120 | \$5,400.00 | 1/21/2014 | 6/30/2014 |
| | | | | | | Health | | | | | | |
| | | | | | To teach 2013-14 | Sciences, | | | | | | |
| | | | | | swimming clinic to | Physical | | | | | | |
| | | | | | Community | Education & | | ** ** * * * * * * * * * * * * * * * * | | ^ 000 | 4/04/0044 | 0/00/0044 |
| Noguez Olguin | Andrea | C. | Chabot | No | Education students | Athletics | Hourly | \$11.00 | 50 | \$550.00 | 1/21/2014 | 6/30/2014 |
| | | | | | To provide services for Title III project that includes interviewing, research, videography, film- making and | | Flat | | | 40.000.00 | | |
| Ontiveros | Skye | G. | Chabot | No | community outreach | Title III | Rate | \$2,300.00 | 1 | \$2,300.00 | 11/18/2013 | 12/31/2013 |
| | | | | | To provide specialized services, support specific facility Use Contracts and support specific projects and events for the Performing | School of | | | | | | |
| Powell | Joan | E. | Chabot | No | Arts Center | Arts | Hourly | \$15.00 | 200 | \$3,000.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | Division | Pay Type | Pay Rate | Maximum | Maximum Amount | • | Assign End Date |
|------------|------------|-----|--------|---------------------------|--|---|-------------|----------|---------|-------------------|-----------|--------------------|
| | | | | | To provide specialized services, support specific facility Use Contracts and support specific projects and events for the Performing | School of | | | | | | |
| Pratt | Roberta | F. | Chabot | No | Arts Center | Arts | Hourly | \$16.00 | 200 | \$3,200.00 | 1/21/2014 | 6/30/2014 |
| | | | | | To teach 2013-14 swimming clinic to Community | Health Sciences, Physical Education & | | | | | | |
| Ramirez | Christina | A. | Chabot | No | Education students | Athletics | Hourly | \$11.00 | 50 | \$550.00 | 1/21/2014 | 6/30/2014 |
| Rubino III | Jessie | A. | Chabot | No | To teach 2013-14 swimming clinic to Community Education students | Health Sciences, Physical Education & Athletics | Hourly | \$25.00 | 120 | \$3,000.00 | 1/21/2014 | 6/30/2014 |
| Dukina | lacka | | Chahat | No | To provide specialized services, support specific facility Use Contracts and support specific projects and events for the Performing | School of | Haude | ¢40.00 | 200 | Ф2 200 <u>20</u> | 4/04/0044 | 0/20/2044 |
| Rukiya | Isoke | nmi | Chabot | No | Arts Center | Arts | Hourly | \$16.00 | 200 | \$3,200.00 | 1/21/2014 | 6/30/2 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | МІ | Site | New Emp to District | Duties | Division | Pay Type | Pay Rate | Maximum | Maximum Amount | | Assign End Date |
|----------------|------------|-----|--------|---------------------------|---|-----------|--------------|------------|---------|-------------------|------------|--------------------|
| Sanchez-Pillot | Adriana | M. | Chabot | No | To provide services for Title III project that includes interviewing, research, videography, film- making and community outreach | Title III | Flat Rate | \$600.00 | 1 | \$600.00 | 11/18/2013 | 12/31/2013 |
| Sidiqi | Sidiqa | nmi | Chabot | Yes | To provide services for Title III project that includes interviewing, research, videography, film- making and community outreach | Title III | Flat Rate | \$1,200.00 | 1 | \$1,200.00 | 11/18/2013 | 12/31/2013 |
| Watson | Tyri | K. | Chabot | No | To provide services for Title III project that includes interviewing, research, videography, film- making and community outreach | Title III | Flat Rate | \$2,400.00 | 1 | \$2,400.00 | 11/18/2013 | 12/31/2013 |
| Williams | Monique | E. | Chabot | No | To provide services to work as a project administrative assistant for the Title III project | Title III | Flat Rate | \$3,500.00 | 1 | \$3,500.00 | 11/18/2013 | 12/31/2013 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | МІ | Site | New Emp to District | Duties | Division | Pay Type | Pay Rate | Maximum | Maximum Amount | Assign Beg. Date | Assign End Date |
|---------------------|------------|-----|-------------|---------------------------|---|--|--------------|------------|---------|-------------------|---------------------|--------------------|
| Wilson | Jacob | A. | Chabot | Yes | To provide services for Title III project that includes interviewing, research, videography, film- making and community outreach | Title III | Flat Rate | \$1,200.00 | 1 | \$1,200.00 | 11/18/2013 | 12/31/2013 |
| Las Positas College | | | | | | | | | | | | |
| Adkins | Lori | J. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Bilotti | Brendalyn | nmi | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 50 | \$750.00 | 1/21/2014 | 6/30/2014 |
| Cullen | River | A. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | | Pay Type | Pay Rate | Maximum | Maximum Amount | _ | Assign End Date |
|-------------|-------------|----|-------------|---------------------------|--|--|-------------|----------|---------|-------------------|-----------|--------------------|
| Eberle | Christopher | S. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Freelen III | George | Т. | Las Positas | No | To provide skills evaluation and assess Fire Service Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Helstrom | Zel | D. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| | | | | | To provide management services as a Marriage and Family Therapist Supervisor for the Tri-Valley One Stop Center in support of the Alameda County Workforce | Tri Valley | | | | | | |
| Hiraki | Susan | K. | Las Positas | No | Investment Act | One Stop | Hourly | \$75.00 | 250 | \$18,750.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | | Pay Type | Pay Rate | Maximum | Maximum Amount | Assign Beg. Date | Assign End Date |
|---------------------|-------------|----|-------------|---------------------------|---|--|-------------|----------|---------|-------------------|---------------------|--------------------|
| Holback | Richard | A. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | | \$15.00 | 100 | \$1,500.00 | | 6/30/2014 |
| Holback | Richard | A. | Las Positas | No | To provide skills evaluation and assess Fire Service Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Kordes | Tim | W. | Las Positas | No | To provide skills evaluation and assess Fire Service Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Mclendon-Hinnenkamp | Wendy | L. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| McPeak | Christopher | L. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 50 | \$750.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | | Pay Type | Pay Rate | Maximum | Maximum Amount | U | Assign End Date |
|----------|------------|----|-------------|---------------------------|---|--|-------------|----------|---------|-------------------|------------|--------------------|
| Nenni II | Daniel | A. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Nenni II | Daniel | A. | Las Positas | No | To provide skills evaluation and assess Fire Service Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Resnick | Jordan | D. | Las Positas | Yes | To provide services as a life guard for the aquatic program | Behavioral Science, Business & Athletics | Hourly | \$9.50 | 20 | \$190.00 | 11/21/2013 | 12/31/2013 |
| Trabert | Scott | D. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Trabert | Scott | D. | Las Positas | No | To provide skills evaluation and assess Fire Service Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |

Informational Report for the December 10, 2013 Board of Trustees Meeting

| | First Name | MI | Site | New Emp to District | Duties | Division | Pay Type | Pay Rate | Maximum | Maximum Amount | Assign Beg. Date | _ |
|---------|------------|----|-------------|---------------------------|---|--|-------------|----------|---------|-------------------|---------------------|-----------|
| Ward | Scott | D. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 50 | \$750.00 | 1/21/2014 | 6/30/2014 |
| Willson | Robert | I. | Las Positas | No | To provide skills evaluation and assess Fire Service Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 100 | \$1,500.00 | 1/21/2014 | 6/30/2014 |
| Wong | Sebastian | S. | Las Positas | No | To provide skills evaluation and assess Emergency Medical Technology students | Science, Technology, Engineering, Math & Public Safety | Hourly | \$15.00 | 50 | \$750.00 | 1/21/2014 | 6/30/2014 |
| Wong | Sebastian | S. | Las Positas | No | To provide services as Program Coordinator for Emergency Medical Technology Program | Science, Technology, Engineering, Math & Public Safety | Hourly | \$56.00 | 100 | \$5,600.00 | 1/21/2014 | 6/30/2014 |